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+0{2 ¥4 LPETE

= LA
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B0| 244 i SEERL
A1 =43 =44 A5
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oA Dennis G. Zill Cengaze Learning
. . James M. Gere, Barry .
Mechanics of Materials 8th J.Goodno Cengage Learning
£4 ¥ . .
222 Mechanics of Materials Geer & Goodno CENGAGE
LearningMechanics of Materials Beer et al. McGraw'—Hlll
Education
Thermodynamics Cengel 2| MC Graw Hill
. . . Y. A. Cengel, M. A McGraw Hill
Themodynamics: An Enginnering Approach Boles, M. Kanoglu Education
A 1 EUEAE F02t
(€*¥ — yeos xy)dr + (20 — reosxy + 2y)dy = 0
Al 2 23 Po| GaAARY] FU(a= UE5HE PP 212510 UL ¥ BHYAS £ B AR

t3. 7EAE|ZE 09 HEE O[3 a0 28 AvML

ba | b=




'E'Z'“ 3 0.5 mm

—-—| I-— 350 mm 4__‘_7 450 mm —=
QI e T22E B2CUS FYsHA

tE9% | Bar 12| HYE 25tk (ST mj" ﬁ

HH7F AT U] YEAUA A A

Bar1  Bar2
A = 1500 mm= A = 1800 mm~
E =105 GPa r =73 GPa

a=2l6%X 10%C wa=232% 107%C

A 4 RIS HERME MBE BE7 1ecel FH 3210 IF WES0 o A -13CE FARCH
R-134a7t 100 kPadlAH 6aec BFE THEE HERE 005 kil HES2 22|00 SO0 #HS72 EHEZD
HEE2 w0l 57|18 Ml il ZHWeZ 10 40c0|0}
a HAY cop
b 2 72 PHRAMME WA T kW)
e EHa YN EZE O HEE 2F

Saturated relrigerant- 1 34a—Prassure fable

Specific walume, Intermal energy, Erthalpy Enfropy,
kg Wlikg kg CHIT
Frass. Sal Bat. sal, Sal. Sal Sat, Sat, Satk. Sal.
F temp,,  liguld, wapar, liqued,  Evap., vapor, fiquid, Evap., vapor,  liguid, Evap., VEpGT,
KFa Ta G [ ¥y L Iy, 'R i M hy 5 Lo &

100 2827 00007258 019255 I7.1% 9801 21521 1727 Z17.1% 23448 QO.07182 0.BBODE 095191
1000 2537 00008700 0020322 10647 14424 26071 10734 16370 27104 0.3819 052378 091674

Superheated refrigerant-134a

r " 7 h 5 T v u h 5
o mikg Kikg klke  klkg K G mHke kg kikg  kMkEK
P=0.10 MPa:(Ty = —2637TC) &= 1.00MPa (T, = 39.37"C)

Sat, .19255 21521 234456 09519 Sat, 0020318 25071 271.04 09157
20 0.19841 21968 23952 049721 40 0020406 251,32 27173 D.O1ED

10 0.20743 22577 24751 L.0031 50 D.021796 260.96 ZBZ.76 D.95256
60 0023068 270.33 29340 0.9851

70 0024261 27361 30387 1.0160

Al 5 o|4EQ 57| 53 A0|29! 7| AO|S(Rankine cycle)B THBHE 471X HgEtH apPEar 2K
B 7|281 2SE.YERT MEE J3|AQ.
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A =M A AL el
23 ol 1 Organic Chemistry F.A. Carey 2| 39l McGraw Hill
E‘I =
Einb =y ) Physical Chemistry for the Chemical Raymond Chang & University Science
Sciences John W. Thoman Jr. Books
3 AFAHZO| 7| ZEHEY o|g& ¢ ALFOF7HH|0|
2 |
B 1 czuzeess

22 ESig oY 58 HASia EEER
$ich A~D2| P=E oAl

Mmamh@ B

HESTE S8 LEA DE HAoH2a
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HaiFt

heat

HE B2 WY
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$4 YAE 7|02 AMGH HOjo| HIZE2 0529 Aot 44 3 FYYE M3Ste
HA| 24219 2&HE0| Hoj 2|59 1%YM, MA2 £E0 Oigh 28d8S
Alirstoiet. M| A= 9.1095 x 10%-31 kgO|H.

=4 2

B4 3 gusoz ze 89 CEzt weNoz Y2 7t WFH0 O/S0N S DEARY} o
O, BAER DEAIS RNUSS THNE FR NOIE B AL RN R

Hasgles o @55 =2 2AP2E 2% DAY FR §HE 571X HE2 29sAR.




Chst Byt 2o CHES RS L
=y 87|318t 22|3/5t Batast
A= A1 =42 =413 =44
nonexact
A A =(FA|0) Organic Chemistry SAHgdst differential Laplace transform
° equation
EA R
I ifferential .
= - SXUEE o t-shifting,
sAl 7 A 20 Reaction e equation, initial .
HHSEA s-shifting
value problem
A =M XA} ERLE
1 o7|3t5¢ Solomon 2| AFFOFZ O]
=4 A Dalsis o
sanz | 2 22|315t R Afo|Z2| 2
3 Advanced Engineering Mathematics Erwin Kreyszig Wiley
4 Advanced Engineering Mathematics Erwin Kreyszig Wiley
A=A
A 1 Show how the following synthesis could be accomplished using a protecting group.
OH
0 BrMg
)l\ % w
0
O
=A| 2 T TS SIHA| oA 3w SES DAl SUHA HoL BE g2

5=
FEX([Boltzmann distribution)& THECH

(a) (N FoM 283 2] 2H(Z2nd enegy level)d ZHE ZFO|
0157 L 0|02 25 = FE(H)RIZIT?

(b) (I ZR00M 247 O|Lf2| 2(2nd eneagy level)d] 2HE LFO|
0.157F i O|mjo] S5 TE(KIQUTE? (I) 29 | AMS 0 257}
O 7] O™ JOPR=A| EAIBHT 1 0|20 Ul 4 =atat

300 — 300 —

{2} ABsaug
[,luz} Afsaug

(I (1)




A 3 Find the general solution of the differential equation.

(x* + y9)dx — 2xydy = 0

=4 4 Find the inverse of the Laplace transform.

E—33

s¢—=25—=3

L{f} =




3 Bays 2 MY HEBIAY BN BHUE
=] ekt BYE orERAg=t
A1 =42 =413
[#I=(=A101) =|afsf, @At HIESLEIS |3 S| | SHPAA, BTG SEH
X
20 28T, =Y, B2143| 0|8 A& S2AZ|AlL H|GAMAEY
o (ﬂléi %il_ao_; = ’ (LY L 2T =1 O oo
LI 2t e
Physical Chemistry for the Chemical . . .
y Sciz\ces R. Chang 2 University Science Books
Physical Chemistry 9thEd. P. Atkins 2| Oxford University Press

Elementary Principles of Chemical

pressure, Sual o 0

Hi
]

it
12

akl

Richard M. Felder Wiley
Process
Fundamentals of Momentum, Heat Welty et al, John Wiley
and Mass transfer
Transport Phenomena Bird et al. John Wiley
E42A
&y MeE fEE LIF (a piston—cylinder assembly) EHGH=S 1

(mole)2! J|& 218 (ideal gas)2 5= Hi® (hest capscity at constant

- 5

volume condition. &)= :R Q0. 0l AI-EZ 52 8 20 2= =8
(edisbafic)E IS S0 23] SFES 018 218 (27 88 =3 2] =1

']

£ 2= (Fi =1 barl= EHEe 25 2% (constant external
B (pquilibrum) =S80 BT S8 25

x

JIHAs R=008314 L bark™ =8314 J-K-mol™)

(2) Ol B8l HEMA B2 HOZ2 (maomum amount of work, =

Wawsl =

) WE RO B8 EHE HAICIA, 0ICie 22 HEANM AR 8t W

(e n J). EBH S HE JES 2= (7rin K), Jd2Id Qs

O B3 (AS_ in JK')8 <3 W DERT FAS




=4 2

=Al 3

125 m* 30| 0050 mi/sg £ 2 E8 M2 W30 1.20 m*2| 0| A =7 THEO| M
| A[EtE A AZHO] ZG M2 BA = BOpRZ 2U0h F0| Mes SR 00025 mifs0|o,
HIZIM tis)E= S0 M7 AMEHE WEFE Z3p AlZHOICH

Water
0,50 m'is I
Jr,-‘" Vo = 125 m’
o ji=ov=t2m’
Wim™)
l Water
(0.00250) (mfs)

30| 2o OfF SESXE M2 IARE AHESHAM dv/dtdf Tt A3 =I|Z2HE P OF,
Vol CHEr AlE 17| YE £=X|2EPAE &3 vl tE JE2 TABke}

T3 Y30 mo|z7F AZEY US W FH7}
2HHS] WAL 7He AZE 2 A ASio o2 A
b ECh (FEEf LE-E 0[B5tA[2). Ofuf
(a), (b), (OF ALSIA 2. SH el EBI} Olo|ZT
o 22 7|0l ZHEDCt FHC TEE p,
HEE n SHIEEC gOlCh ooj=e X=
2 "@30| Bx| S0 vl HOiHo2 ofF =t
(D<<R). THO|Z CHOM RH= FF2M sh-
Z 0t E|S{Hagen-Poiseuille) 284S mELC}

t=| (a) [ (b)(1+§)—(1+(c)




st STt 2HHY SIEUT PSSR #EEHE
=53 Qursfst Setest
At A1 =42 =43 =44
TAIAHZ(FAS) +20|25% Gt AELSO2EEA 2T
27|H
et AYMIEEEL, 1 n
M 7lE U 8O - - 0|47 48, 193] x5
YUt o
A= EMT A} ERZ
1 - - -
24 4 2 _ - _
Atz
3 Kreyszig g4t 10T (%) Kreyszig BHIAESA
4 Kreyszig 343 10T (%) Kreyszig BHIAESA
A=A
A 1 2 200 mLofl NaOHE E8HA|7 0.02%WN)sE2| U8 QHESICE 0| S| pH=?
(TH NaOH £Xj2R=2 40 go|cth)
A 2 gE 7hakel wrgelA g gEbal s
2A(s) + BU) — Cig) + X1}  AH® = =10 kJ)/mol
(a) §] vhg-ollA] AH7} 2]n n[ - Wby K9l9l )
{h) @] HI“" o vrejulg-017} & -:HHL“ ni;}z 1 o) He?
(c) o] whg-o] QlE& i] L"lﬁl-(u"a? 704 Y21A dS&dn, O olfE AYSAL
A 3 O S AEMO|2YEAS UM E oA L.
J-'1I = y; + ¥ + Seost
vz = 3y — ¥; — Ssint
A 4 RO UXZE YR ZhE7Iof §071 100 F 10°my/seckl A 10'my/secE T ZIEKE St

Ch 103X U9 7IKE(a) 2 O|EF A (s)E FHAZ2.




chst Zafyst B RS
R E2/3t5t MENI7HE
A= A1 =42 =413
EAA=(FA 0l T3t A1 safreu 2ol 2712 42
ZAcr R
s g W go | 2 B HRHR, sispurs, B, Mt 1z, 2p7| 2RI,
ne e = HAY, b7t HFSE A4 HOfR3}
A =M XA} ERLE
Physics for scientists and.englneers with Randall D. Knight Pearson
1 modern physics
2 Y : : , . . H.D. Young, RA.
HnAtE University physics with modern physics Freedman, AL. Ford Pearson
2 Chemistry J. Overby, R. Chang McGraw Hill
3 The Science and Engineering of Materials Donald R. Askeland CENGAGE Learning
E4=2A
A1 =57 300 K, HA 20| 50 ame| 5E2| AL ol&7|H 7 Boldle AHEA ElOIO 7} &
Ch Elo|fe 28 2HE | atm0|Ch O Elojofe oo E 2447 €H Elold 59 Z|H =
GHE 28 QY | am? ot B mizix| cHEHEBICH Elojo YR Z|He HERZE A
HSIAI2 (R=8.3 Jmol + K).
24 2 o KolAM BHEZ| fe A NiOs ¥LriAet b2 Zo] grEstod DA NiClL2 | - E o
NiO (s) + Cla (2) = NiCls () + 1/2 Oz ()
H&TpAT} BHET|E shH EapEh o P41 HHZB0| 80 %, F, 80 %2 HLItAT| eigst
7] 2iEk HA =g PSALR 9o KoM Y setetsol srEEEAMEE 538)
=4 3 92404 z

HAmE LZE ZH= Fe3040| CsHA, THAYHZ (M ) 55 x 10°5 A/m2| £ AP7|ZHEE HQ5!7| 5t
2 213513] SiC}. O] Fe3040 THE TS HT5i0), Cr30| 280 T} (047]4 Fe304:
A4 837 x 107-8 cm & Zt=Ct ESF Borh magneton 9.27 x 10%-24 A-m2 22 3§t}
Fe304 7Z0| Cigt o1 Mm:
(a) ATd 72 LRol 37| 8HH HUY Aot sa%hel 4TH HYY A7t ZAe
(b) YALY A AL Z Fe3+9| 1/22 4HA| Z29| 1/88 RIA|5tL, 42 Fe3+1t Fe2+7t 3| 8HA|
129] 1/2g A3
AUE (1) FeY YEE If_éh-xf of, 2|& 7t &5 2 HAM= 25 Mn, HAfHS
27 Co, HAIH= 28 Ni Q. O|F2 2712 UO|2 HEiZ 2| K0, Of mj
Z2AA0| HSHs °*t+1 FFg3t) Of 3 Of g MEShs Z0| HASIHLTI?
(RAI2 FeQ| HAHo= 260|C}) 2ot AHLhS Sol0] Z/E A 2E AA|s[=t.

ZE (2: (oM BYt 28 2SS 0l Z= H7[eHOF of=A] A4tste.




it Byt 2T 2233
=y HAL7|5H1) M3 2(1) AE o AAE
A= A1 =42 =43
_ N Fourier transform of a
2| % = 27|18 MR} |st =7
ﬂl .“%('I'x"o‘l) [y I- |—|I: [y I- |—| I[ BJT CE o | periOdiC Signal
AT Maxwell’s equations,
Al 7 9l 20 Vector calculus, - -
Time-varying fields
A EMT A} ERLE
Engineering Electromagnetics William H. Hayt McGraw Hill
gy
%,FJ'_ZI'E Field and Wave Electromagnetics David K. Cheng Addison Wesley
2 - - -
3 - - -
A=A
=Al 1 of2h 2yn 22 eRe J2ET HIOUE HAY WERm < r <4m)0] 2UT e £X p,

7t Y& O, Gauss's law & A830] RF YOS D & Y32t HE0E 2z § Y@z ]R3

g HO|®§ 7HEC

x

dm

T ) 3
@E' (C/m)




=4 2

FO|Zl TR 201 TLOIS ™/, B Ot =MIHZ F5tat

1) EWX|AEC Hio|o{A HF I.E ot B vy =07V, IREZSE f =
oo, 12|21 ¥, = w0 2 B2}

2) &4% ST7HE|2E 2|1 0|58 #oizt o] f = 10022 &t ALEE
HIHAIE = =83 ICtD D2sict FS| v, = o 2 3}2}

+15V
.1\
Rg, R, =
15k 2 sokn
= I
R, = 2.5k} J 1
] o
oo By =
10k 5 +

A 3 Find the Fourier transform of the following pulse train #(t):

(t)

=3N F]




o=t Skt 23 7| ek
IEE: A 3|20|2
A =A =AI2 =A13 =Al4
A|H=(40) AtAI2] M7 A7 |3 3|20|2 3|20|2
A= Ampere®] 3, | o s =R
M JHE 2 80 | HE AVIYY T, 7¢I7IE* i HEHSI2|Z, L&, KCL, KVL
2t7|Zko| Hisk - KCL, KVL
A2 MY iy ERL
A7 |5k Hyat Mc-Graw Hill
=31 Ol
f&xé 1,2 H2L7|&t Iskander Prentice Hall
27|58t Kraus 515
NP Charles Alexander .
3,4 Fundamentals of Electric Circuits Matthew Sadiku Mc-Graw Hill
A=A

24 1 339 el x5S et 24+ 1 Ampere?] {77t sEch
A P(1L.1.0)o)A 245k AlAI2] Al7)(H) ME & 37)9t $gs efstol

A4t &uf g alog Te)AlQ. (RE 9 mks)

A 2 aH3 FE2 Aol IRE BY of Y5 S sMUE FEAL.
() AAH=z @ ANA5H, @ & A
(3 23olMde] AU, 4 Fo
(1, = 30em. L, = 10cm. g = 1mrm. S=3 = 3em’
N=1000. f=14. u_=1000. LAgF =98V ) |

A 3 aye] gjmola Mspof Mg xgdalr] 2§ RS PAskD 2 o) sofMa 208 s Q.
B ) 20 a
P et PP P
| i
v i 212:& {)2a R

B 4 #HzdA v, 9 V.8 FEHAL.

LR

| M Vs

30" A

) L
= LT g &ty :": 1203
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st Bayst LIS HLBUBIE HEUUB
pIE=1 MAAZAKI) HEZ=04Yy
A =41 =42 =413
afagias HEs 9 o= - -
A A=(FA01) = oA A= SR A=
2O A=
Ep =
Al DESAIM THERAIZ | Oj&3 RJoI|2a} Ol Z 2
SHAI 7H|_=| ol _Q_o_l _ILI- 1| (L 1||_|_|_, |_E|_ |-It Ho-'—l- LLo—+o :LE]_?_?_ Oli ol 7:”§_]
oee =e Al BXM(formal analysis) | A&, At AL 54 == ==
A =M A A} ez
2y 3 HOR Yt YAl HYUZAL e CER
=<
ZFT1 A
AR 2 HEAE oz 9| 49l Dot
3 A=A 0| %L 9| 49 2ot

A=A

SH 1 TEEj= AH(BCE 447-438)T ME|R AIH(120-124 CE)O| ASHAIS
HZAH 008 =514,

=A 2 Ol A= i oF0 sl 2EorAl 8.

1) AA2 e AE2F2 A Hisl 2ot K.(508)
FE Fz[0 0hE AAAF YA SH4S dYstMR.(508) (BE 7IEE 2d E%)

=10

oA 3 dd 2012 U A= HESE 2ol JES HHON K.
1) H2|(Clarence Arther Perry)Q| ‘2 & 11 FHZ|FA2(1927) 2 OFFA(Thomas
Adams, 1934)Q] ‘F7A|9 MA|(Design of Re5|dent|al Area)?Q =8 7|4
AN £.(508)
2) H5(G. Feder, 1932)Q] ‘Aj2& TA|(Die Neue Stadt)'2l FO|A(H.M. Lewis)9]

AL EAIQ A&l(Planing the Modern City)'e] 8 7iE9S dE5IA|R.(507)
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- Hojsh (40 | FASHPRE- | HBE MH | 2202] Ylurry | HstEAof
'.l_'x"Z'“'g.(-?-}“O'I) o % O]I;I e N 'I'I'H o = E_”:H y ;I ar o 4
CEE: gHER L) et wall) &8 Cier 2| o2
Y= smyal o
ALY Hopms, v, | E3i, Ay =S Wy e
= =Tee HIELIO|E QoY
TAHS =M A Af ERE
_ : hn Wil
12 2ol Meriam | 19l John Wiley and
=220 0 Sons, Inc.
EZ'I =
aoxz 3 - - -
HEUrzs! Yot 9 7129
4,5
HEYet 25} e 9 0|2
A=A
A 1 & aEdMH FoE ol T HAE FFEHAMZ,

(B ghalel R4 2 fel SaolM (45 «Bhx| 82 # &)
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.
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EX

I
R20 ﬁ

=T

TioT
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B 2 cig 2¥n de =329 Z Ao ciste HxA2 FED
A7 oS FE eAFeIX FEHAL,
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2 3 =azle #@io SHSEBOOE 1.2 kealVmhrcol D, HHe SHIt 21em 2 @
S WY BEOSSs 220, 9o 9 BEREc= 1000ICH
O Sl LHEUHIA 10cmEles XEH ML =52 ScEsE FatA 2,
(EM)
1, Hye O™ 20m0|D, AlZI2 1A12122 BiHCt
2 4o MEARIAM St aHH HASHCEH
H, =220 g, =100
ﬂ, = T
10cm

@ LHEMAM 10cmEl=s AIEMHMS 25
@ HEE8

=A 4 &35 E(slurry wall) SEHO U0 AYAH(MELO|E)S ArEdt= 54 571A[0f| Cfeli
ME&sHA L.
=A 5 22 OpZet 3o & 7t27t WlES mE) E2{UR 23S HSiAYolE) ot

H=0|

Yol Oid 471R| & MestA2




st Baiyst B30 AU TIE EAZEHT
2= EAEHE
Sz 231 232
S S(ZHO)) 7|BEAIA T EAAEIALA Azlo|2, A2 23
SA : : o _
s g o goy | FES A1 OIS0 T S, ek, HRN A 23, 3N 24 A 23,
4el o8 3 8 SAEAY, TR 2l Az 2y
SxME EA 2t iy
=2 o N . e
Ak EAEE CErRE - EAA2SH) a7y
2 N R - A2 w7t
232
A4 1 TZEQ A& U 0|20 st HE M HOSt= 7|HIA MY FRE L4,
T|HAE T EA|AHEA| LY ir0|2101| Cioll AM-=otAlL.
o 2 A B AY 2L HAH AY DO MASe TRAS SAO2 7 Byl Y Y

20| iolo] EFotA L.




Chst Byt 2o UGBS E2 BT
i EE Syt U4
A= A1 =42 =43 A4
- 719 |z} AE SOl
A A= (F2]|0]) E2o| wl oA R5HE =3 TS Y HIRIAl
A P ] Y 0| 24
SHAl 79 o 80 T oo Ay CIAZZ5E ==oo MBS 0| LHEY Al
TE e =T aoey geme | ST oumma, gy | o m SO
Iz HIA| 20| ZL7E A
A MY XA} ERLE
= eHg7|, &1, 0|84,
1 Mzt AT shdal oIz B 27| ZEH0IHY
- 10/ O = - o 20 O
=2 U Spp—— .. James M. Gere, Barry J, .
2nRtE 2 SI 2{2¥st 8th SI edition Goodno CENGAGE Learning
3 - — -
4 U434 100 Kreyszig CREESSEN,
A=Al
A 1 gy ge] H¥EHFE W= el A Co viele] 2gd = 22(N), dAd(V)z
FvdEME S8l
200 N /m
Afs oo gl-’-f
P 1.5m -re 1.5m -
A 2 THI 3ol e|7t Le|n de] oz A JlFe] #UF 25 FUHE Weol H=Ee| HEH9

o 71%& 8] &4 F=o] e we] 2k

+ EI, A8 3A %< a0l

e P
(73 'II-LL"!' L | =1

%

AEtA e, (3, 750 dage

A ]




24 3 el HFO0| 10 cmol M =& 5emZB HAchs WIS2|0[E7F Qlct
O|&=A0[2t 715t F& (m¥/s)ot BEFS (BERE, kg/s)& T5tEk
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o=t Zarhst DY AFTgetnt
= DA|Het ggsr At
A =A =AI2 =AI3
A A= {(FA0) HEHZRHE SUEZmA A Fluid Statics
ST :
aAl 7 @ of HELZRMHE _ Static pressure, Force & moment of
oe e = o Moo submerged plate Moment balance
FAHE =M A Af iz
ii.l EJ 1 - - -
= =
uztz 5 _ _ _
3 Fluid Mechanics Fox, McDonald 2 Wiley
SAI=A
=AMl 1 ofgfet 22 YTnHEI}F THH CcojM 27| 19| HEYRRMUEE W
2 O, 5{B[CISHE 7, 0|ct 8l PHHXE d= YHORRIZE? Of2|M
b>a 0|C}
T
L€ By
] [ o
| d L :
I
P o b 3
- F =
Al 2 o nag ez s 25 7 LR p, YH pE O BAMS FHELH
Tds = cpdT = ~dP (M
o710l HUHE ¢, o EHEH|Y o, 9 HEQ HYH = y=g 2 Fo|xm,
SYUH| S HHHE2 ¢, —c, =R 2 HAE 7HULL R 2 7|4 &50|Ck
2 BAASZEE p=pRTE PHESH= O|&7|H0f Cisty S E=D =A
OlA @Eel WEO| Chet WalgR Wolsle 84 D) @=L & TOMA
S 3 The reservoir 1s filled with water. The reservomr
e

= Fa contamner which i1s composed of two straight plates can
2 be rotated freely with respect to the hinge. Calculate the

force required to maintain the reservoir. (neglect the

weight of the plate, the width of the plate is 1 m)

lim

The water can be treated as an mcompressible flud.
Assume that the density of water. pw is 1000 kg/m*, and
gravitational acceleration. g is 10.0 m/s’




rist Baryst B35 Ao Batat
=y HABEYE
2SS =1 232

S| =(ZA]01) M2 J2)DE 285t 5ff 27| NEIESEE
S
Al 7y L 20 - MH|A YHT2| QM9 A2
SHHS =M 2t HEsHz]
=] Ol -
"’j.T’Z_-IZI'E 1 Introduction to Operations Research 11th edition F'S'Lli_gglr?;ainif"]' -
2 AN AR TSR TA|Z 9| M
£3|1 23|
A 1 o aejEoa gHos F gee ZEEE FHosEls A2 H(linear programming) 2H|0] A8l

1=HY(feasible region)= LIEPHLCE

¥3 3, 3
1, 3

in, 2y

(0, 0y
Mm%

{a) (33004 SET 0] 0,23, (63), 33004 = gHECH =00 ahak (3,302 TEA] HEE7)
Hli=vlr ©E ololLQE Holgh BE olF AuHci (.30 HEEs) B 2R oE s A
Agle) §e ol es Aedrhi (3,3)0] HEE7) ollleks Hhell(counter example)E S} Soig).

(b) T} O] HHE 7 ERsla (3.3)0] FEE & &, (02) B2 (63) & siL7} HiEAl 2=
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The mass my is moving up with a constant velocity on the rough incline with the
static friction coefficient x5 and the kinetic friction coefficient xx. The mass my
and the mass mg are connected by an inextensible wire as shown in Figure. The
friction on pulleys can be neglected. Determine the mass m, that makes the
system move with the constant speed. Assume the values of mg, g w5 ux and 6

are known,
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